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Q1) A 120/132 V, 1100 VA Autotransformer is constructed from

16

;11 Com_/en.tional Transformer (CT). Find the current rating of the W
V winding of CT. Illustrate your solution by drawing the

necessary circuit.
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g Q2) A 3-ph transformer bank is to handle 500 kVA and b0 i é’"%""r‘ =
/ have a (34.5/13.8) kV voltage ratio. N
A 2.1 Find the rating of EACH individual transformer for open
( A-connection. , (5
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2.2 If the 3-ph transformer is Y-A and used as step-down, find

the rated secondary phase current.\ [4]

2.3 If the 3-ph transformer is Dy and its pu impedance 7=0.01+j0.07
find the transformer's impedance in Q referred to LV side. [4]
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Q3) Three single phase transformers each one is rated at 25 kVA
- (24000/277) V are connected in A-Y. In the O/C test the LV

/ (Z‘ side was the primary and the following readings were obtained: :
Viine = 480 V Ine= 4.1 A Ps, = 945 W :

/a\ '
\_/ 3.1 Find the corresponding per phase values of the readings. [4]
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3.2 Use (3.1) to find the values of transformer resistance & reactance. :
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& Q4) For the connection designation YNdI:
J
{ y, 4.1 Explain what it means.
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4.2 Draw its equivalent connection diagram by showing the p
terminal markings according to conventional method. [6]
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)/ -)65) a-For the given direction of current in Fig. 1,identify the POLARITY
\ /_~  ofpoles and direction of ROTATION for the machine if it is
/ operated as GENERATOR
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b-A simple single turn DC machine has the following dimensions:
r=05m 1=1m R,=0.3Q B=05T

b.1 If the machine has 4 poles, find the flux per pole. [4]
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b.2 If the machine has 4 poles, the apphed voltage is 120 A4 and the' A

.
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,\/\ ~——c=A-six=poledC —achitie has 72 coils on its armature, 10 turns/coil and

each turn has a resistance of 0.02 Q. If the machine has Simplex Lap

winding: CES
c.1 Evaluate the armature resistance per path. (4]
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C. 2 If the rated current of the coil is 5 A, find the rated current of the
machine. - [2]
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